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ﬁi’; TREOBBOEILNOKRES TERFDOHBEEILNOKRES TREOBEOEILADKRES TREOHBEEILADKES
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7 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 000 ~ 577 72.09 | FnS | 0oo ~ 577 1.80 9.64 st 1.00 | 6.00 ~ 6.50 72.09 | TS | 65,00 ~ 6.50| 1.80 9.64
2 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 6.16 77.28 | EnLS | 0oo ~ 616 1.75 9.39 st 1.00 | .00 ~ 7.10 77.28 | *hSY | 500 ~ 710 1.75 9.39
3 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 698 8844 | =nS | 000 ~ 698 | 1.87 9.985 st 1.00 | 6.00 ~ 890 88.44 | =hS | 5,00 ~ 890 | 1.87 9.98
4 100kN/m%E#Bz25| 1.00 000 ~ 126 11901 |3mEEZD -~ - - -] 100kN/ %825 | 1.00 | 10566 ~ 1449 119.01 |3m%E#BZ% -~
s 1.00 | 1.26 ~ 9.04 100.00 | #nst | 0.00 ~ 9.04 | 2.23 11.91 st 1.00 | 6.00 ~ 1056 100.00 | =nst | 6,00 ~ 1449| 2.23 11.91
5 100kN/mi%E#82% | 1.00 | 000 ~ 124 11869 |3m%E#BZ 5 -~ - - -] 100kN/mZ#8z% | 1.00 | 10.66 ~ 1449| 11869 |3mZ#Bz25 -~
s 1.00 | 1.24 ~ 9.02 100.00 | =St | 0.00 ~ 9.02| 2.27 1214 st 1.00 | 6.00 ~ 1066 100.00 | =nst | 6.00 ~ 1449| 2.27 1214
P 100kN/mi%E#2% | 1.00|0.00 ~ 0.09 101.29 |3m%Ei#BZ 5 -~ - - -] 100kN/ %825 | 1.00 | 11.565 ~ 11.80| 101.29 |3m%Ei#Bz% -~
s 1.00 | 009 ~ 787 100.00 | #nst | 0.00 ~ 787 | 243 12.99 st 1.00 | 6.00 ~ 1155 100.00 | =nst | 6.00 ~ 1180 2.43 12.99
- 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 463 57.71 | =hst | 000 ~ 000 1.60 8.57 st 1.00 | 6.00 ~ 5.00 57.71 | #hdst | 5.00 ~ 6.00| 1.60 857
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ FhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ FhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ FhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ FhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ FhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ FhLst ~
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